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Ideals for irreducible component#ﬂ)f Xpar

I = (' —u*® .+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 47 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIY=(u'"—u®+...+2u—1)

(i) Arc colorings

w= (3)

ag =

—u" 4+ 4ud — 4ud + 2u
uw —3ud+u
—u'® + 116 — 48u! + 107u!? — 133010 4 95u® — 34uS 4+ 2u* +u? + 1
u'® — 10u'S + 37ul? — 60u'? + 35ut0 + 8u® — 16uS + 4u* — u?
—u® +5ub — Tut+ 202+ 1
wl® — 6ud + 11ub — 6u® + u?
—u' + 12017 — 58u!® + 144413 — 1930 + 130u° — 2607 — 14u® + 5u’
ar = u?t —13u® + -+ ud 4 u
ut — 20yt 4+ 4w+ 1
a2 =

—u16 + 28t + -+ — 8ut + u?
(ii) Obstruction class = —1
(iii) Cusp Shapes = —4u** + 116u*? + .- — 20u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘1 w4+ Tut o 6du 423
€2,C3,C4 I L R W |
€8, C9
cs, C7 w220 — 13
C6,C11, C12 ' =t 2% 1
c10 u'” — 5ut® 4 ... 4 56u — 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Yy 11y - — 9704y — 529
C2,C3,Cy4 y47—61y46+~-~—4y—1
s, Co
cs,Cr Y — 2991 ... — 1076y — 169
C6,C11, C12 y47+39y46+--~—4y—1
c10 yiT — b5y + ... + 6176y — 256




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

= —0.935316 + 0.3053351

2.62027 — 2.290941

4.17636 + 2.982241

= —0.935316 — 0.3053351

2.62027 4 2.290941

4.17636 — 2.982241

= 0.966803 + 0.3197481

—0.38211 + 6.332741

1.15955 — 6.713201

= 0.966803 — 0.3197481

—0.38211 — 6.332741

1.15955 + 6.713201

= —0.952629 + 0.2201681

3.38277 — 2.893541

6.69037 + 6.298891

= —0.952629 — 0.2201681

3.38277 4 2.893541

6.69037 — 6.298891

= —0.985625 + 0.3262701

4.24927 — 10.397801

5.89159 +- 8.403451

= —0.985625 — 0.3262701

4.24927 4 10.397801

5.89159 — 8.403451

= 0.948541 + 0.0842151

2.09196 + 0.104741

3.38715 + 0.999781

= 0.948541 — 0.0842151

2.09196 — 0.104741

3.38715 — 0.999781

= 1.021670 + 0.2432991

9.32278 + 3.739161

10.74415 — 4.447961

= 1.021670 — 0.2432991

9.32278 — 3.739161

10.74415 + 4.447961

= —1.053170 + 0.1034001

6.61499 + 3.026411

9.00744 — 2.181641

= —1.053170 — 0.1034001

6.61499 — 3.026411

9.00744 + 2.181641

= 0.641912 4+ 0.3015121

0.98188 + 3.425211

2.41709 — 5.440991

0.98188 — 3.425211

2.41709 + 5.440991

= —0.560169 + 0.3212501

—2.59632 + 0.429071

1.68504 + 1.571611

= —0.560169 — 0.3212501

—2.59632 — 0.429071

—1.68504 — 1.571611

= 0.511129 + 0.3686691

1.68279 — 4.298711

3.25946 + 0.958741

= 0.511129 — 0.3686691

1.68279 + 4.298711

3.25946 — 0.958741

= 0.187143 + 0.5470431

0.63696 + 7.428101

0.40676 — 7.423311

= 0.187143 — 0.5470431

0.63696 — 7.428101

0.40676 + 7.423311

= —0.160732 + 0.5364831

—3.84748 — 3.420051

4.82162 + 5.250791

= —0.160732 — 0.5364831

—3.84748 + 3.420051

—4.82162 — 5.250791

= 0.118474 + 0.5253291

—0.601586 — 0.5347001

—2.02307 — 0.923991

= 0.118474 — 0.5253291

—0.601586 + 0.5347001

2.02307 4 0.923991

= —0.286692 + 0.4383691

5.28511 — 1.419821

5.84943 + 4.602631

= —0.286692 — 0.4383691

5.28511 4 1.419821

5.84943 — 4.602681

= 0.150071 4 0.3565751

0.004655 + 0.8645221

0.14963 — 7.777821

U
U
U
U
U
U
U
U
U
U
U
U
U
U
U
u= 0.641912 — 0.3015121
U
U
U
U
U
U
U
U
U
U
U
U
U
U

= 0.150071 — 0.3565751

0.004655 — 0.8645221

0.14963 + 7.777821




Solutions to I vV—1(vol + v/—1CS) | Cusp shape
u= 1.63569 4.98619 0
u = —1.63713 + 0.016741 8.87485 — 4.163821 0
u = —1.63713 — 0.016741 8.87485 + 4.163821 0
u= 1.70178 4 0.076071 11.94230 4 3.772711 0
u= 1.70178 —0.076071 11.94230 — 3.772711 0
u= 1.70759 + 0.055561 12.84280 + 3.980491 0
u= 1.70759 — 0.055561 12.84280 — 3.980497 0
u = —1.70861 + 0.033171 11.58770 — 0.662741 0
u = —1.70861 — 0.033171 11.58770 4 0.662741 0
u = —1.70911 4 0.082661 9.07855 — 7.929821 0
u = —1.70911 — 0.082661 9.07855 4 7.929821 0
u = 1.71430 + 0.085361 13.8014 + 12.04771 0
u= 1.71430 — 0.085361 13.8014 — 12.04771 0
u = —1.72414 + 0.062361 19.1056 — 4.97831 0
u = —1.72414 — 0.062361 19.1056 + 4.97831 0
u= 1.72607 4+ 0.029491 16.5348 — 2.46381 0
u= 1.72607 — 0.029491 16.5348 + 2.46381 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 w4+ Tutt + -+ 64u+ 23
C2,C3,C4 Ty TS Py |
€8, C9
cs5, C7 ut w4+ — 220 — 13
Cg, C11, C12 T e R |
C10 U4775U46+"'+56U*16




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 Y+ 11y - — 9704y — 529
€2,C3,C4 T 61yt 4 —dy — 1
€8, C9
¢, 1 Yy — 2991 + ... — 1076y — 169
€6, C11, C12 Y39y ey — 1
10 YT — 5yt £ £ 6176y — 256




